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o p.27,

Section 2.3
e p.27,
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20: 000000 =0000000

o0: 00000 =0000000
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220: 000 NOO = 000000000 NOO

30: FockDOODOOODODOODOOOOOOO

60: 00000000 = 0000000000

. 000000000000000000000000000000
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® p.93,
e p.54,
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20: 0000000= 0000000000 {x¢¢*}'00000000
g



op6l, 120: 00000000 = 000000000000 DOOOOO0OODODOO
ggbbobooodgbbobooado

o p.61, 190 (4.47): [o/] = /()] 00000
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v,By

9-110: 000000000000 0000= 0000000000200
00000 /(% ]A=")A00000000000000000000O0
0000 &0 XMO0000000 M(%[A-)40000000000000
0000000

Lo: 7000 0= +s"0000000000000000000
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. 000000000000000
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10: 0000 =0000 0000
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90 (4.120): MAB[/) = MAB[A]

110 (4.121): Ac[e?] = Ac[A]
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Section 4.8
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Section 4.10
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Section 5.1
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Section 5.2
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epl9, D00 10: 0000DO0O0ODLOD =00000000
Section 5.3
e p.91, 120 : Lorentz = Lorenz
e p.92, 10: Lorentz = Lorenz
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Section 5.4
e p.93, 130 : anti-BRST = 0O BRST
e p.94, 40: anti-BRST = O BRST
ep.95 60: (5.24) = (5.53)
e p.95, 70 : Lorentz = Lorenz
e p.95, 170 : Lorentz = Lorenz
e p.95, 00O 11): Lorentz = Lorenz
Section 5.5
e p.96, 10,11 0 : Lorentz = Lorenz
Section 5.6
ep 97, 180: 000000 = 00000D00O0OO
e p.97, 200 : Lorentz = Lorenz
ep97,240: 000000 = 000000
ep98, 80 (5.81)0: A -DFCO = N - DHIC
ep.98, 100 (5.82)0: A -D'CO = A - P°C
e p.98, 0000 30: Lorentz = Lorenz
Section 5.7
ep.100, 00O 20: 00 BRSO = 00O BRST
e p.101, 18,19,200 (5.104) O: (0|[T...]|0) = (0|T...|0) DO DOOOOO [JOOOO
e p.101, 26 0 (5.106) O : (0|[T...]|0) = (0|T...|0) OO DO [[|0 OO0
Section 5.8
e p.103, 140 : Lorentz = Lorenz
Section 5.9 OO

Section 5.10
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e p.106, 150 : Lorentz = Lorenz
ep.107, 30: 000000 = 0O FPOOOODO
e p.107, 170 : Fock-Schwinger 0 0 0 = Fock-Schwinger 000 (FSOOO)
ep.108, 60: 000000 = 0O FPOOOODO
e p.108, 200 (5.146)0: [d'r = [dPz 00000
e p.108, 220 (5.147)0: [d'r = [dPx
Section 5.11 OO
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Section 6.1

Y X% S
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e p.113, 70: aggco,f..,;d)) = i)((in-'fzd))

o p.113, 150 (6.21): 5255 — 25

SxH

é(z)

e p.113, 16 0: 0, = &, dat = da*, o =
ep.l13, 170: 000 = 00O

e 113, 190 (6.22): §5 = 65, Jo — 22

ep.113,200: £ —= %

ep.113, O0:det(l4+E)=1+.. = det(1+ E)=1+ ...
Section 6.2

ep.114, 160 : tensor UU UU = tensor U U U0 OO0
Section 6.3

e p.117, 40: pA(k) = pi(k)

e p.117, 000 80: pa = pit(k)
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e p.130, 150 (6.130): A = A,
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Section 6.8
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e p.135, 170 (6.161): J), = D*
e p.135, 190 : J§ = D*
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0og
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ep.136, 00 1): 000000 =0000OO

ep.138, 140 (7.9): DD DO ODODOU(C) = Uy(C)

ep.140, 90: O0DOUODD1I00 = 00000 100

e p.140, 170 : mixed and antisymmetric = mixed & antisymmetric
Section 7.2

e p.143, 6,170 : Lorentz = Lorenz U O OO OO

ep.l44, 210: Q.00 = Q00
Section 7.3
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ep.147, 7TO: D0 O0ODLDOODOOO0ODLODLDODLOODOODLODLODLODOOOOODDO
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gogbooood
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00 130: hep-let = hep-lat

30: enhance 000 = 0000000
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240:0000000= 000000000
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l60: 0000000000 0000000000000

200: J,(2) = —g ¢ dz, 0P (x — 2) 000 [dPxJ,(2),(x) = —g $ dz, 2, (2)
= 00000000000 J,(2) =—g$d2,0P (z—2) 00000
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000eOIDO0O0ODO0ObO0OLOOO0O0OO0OOO0DOOobOobooboo
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o p.153, O00: (7.93)00 ¢ = ¢

89) = R eg(B) = XL iy 1 0(g7(R)) (. = 9
ogogoo
8?) = ~RArg? () = ~ 2803 44 ) 4 O(g°(R)) (N = 9

OoR 1672
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e p.155, 1-20: Uy, : =0,U,... = U, :=0,U,..0 (0=0000000

ep.155, 100: 000D0UU0OD =0000000000

ep.156, 1I80: D0 0ID0OD= 00000

ep.156, 00 5): D000 =000000

e p.156, 00O 7): J. Proca, ... (1936). = OO
Section 8.2

e p.157, OO 10): Pﬁzéuy...ﬁpﬁzgw...

e p.158, 70 : Lorentz = Lorenz

ep.160, 110: 000D0OOO0U0OD0OD=U0DO0OOOUODOODOODODODOOO
Section 8.3

ep.160, 110: 000 = 0000

ep.161, 30: 000 = 0000

e p.162, 180 (8.44): . =0 -

ep.163, 30: J0DODDODDOD =0000000000a=400000
Section 8.4

e p.163, 11 0 : Lorentz = Lorenz

ep.163, OO 30: 00000 = 0ONGUOOO
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e p.165,
e p.166,
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e p.171,
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e p.172,
o p.173,
o p.174,

o p.174,
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e p.177,
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e p.179,
e p.180,
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0 (8.58): JH(@)A,(x) = j*(2)4,()
40: JMz) = j4(z) 00000
000 20 (8.69): 64, = A,

130 : Lorentz = Lorenz

160: 00 4= 00 4(1240)

16 O : Lorentz = Lorenz

170 : Lorentz = Lorenz

(8.88): WAk (,y) = WiiB(z,y) := (0l (2) P ()[0)

50 : Lorentz = Lorenz

O0D040:0 893) 00000000000 0OODOOOQREI0)=000000
0 (8.98): e7P* = e¢~P(@V)
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40: 0000000 (853)000000= 0000 JohnsonO0OOOODO0O
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100 : |phys > = |phys)
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e p.190,
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30000000 = 00000mo930uno
0000000 ==000000

190: 0000 =00000000000000000O000
240: SO(2) = SO(2) =~ U(1)

l60: 000000 =000000000e¢=1=p 0000
40: 00000 =000000000000000

110: (92000 ¢ = £

q
h

150: (9.21)0 ¢ = &

>

22D:qm:2%hn:>qm:2”—hcn

160: (9.24) O
Au(z) — AL (z) + %@)g(x) = Au(z) = Al () = Au(2) + %0,1)(@)
20: 0000000000 =0000000

210 000000bbbuddl ==0000000000000

00 12):

arccos (a:l/\/:v% + x%) ¢(xr) 00 = arccos (xl/\/aﬁ - x%) Lo(x) 00
40+ (9.36)0 2

[gA(p) - 2] f = 0000000 [gA(p) — 2] f2(p)

140: 00 |H|=H(p)O = 00 |B| = B(p) O

20: E= F

7D:v::\/?:>1}::\/u¥
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e p.193, 00 18): O(r=3/2+¢) = O(r=3/27¢)

ep.194, 150: 000 = 00000000000 = 0000000
ep.195 0 96: 0000000 =000000

ep.195 80: 000000 = 0000000 (9.52)0 (9.53) 0
ep.195 120:7r - 0= 000r —0

ep.195, 17-190: Or —o0o U ... . O0OO... O0OO.00016000 17000000
gobooogd

Section 9.5
e p.196, 120 (9.73): A\ (z)) = M\ (x)
ep.196, 200: U0 = G=SUN)DOOO
e p.196, 00O 23)(9.71): SO(2)/U(1) = SO(3)/S0(2)
ep.197, 40: 00000000 = 0000O0OO00OO0ODO
e p.198, (9.81): 6,R = 0, R
e p.199, 110 : Lorentz U 0 = Lorenz O 0
e p.200, 40: R = Ry
e p.200, 100: y = x*
e p.201, 30 (9.97):

(exp{igﬁydxu%(x)p = <tr [P Xp {zgyidx“%(x)ﬂ >

ep.201, OODO 100 : Lorentz U U U = Lorenz 10 0 U

e p.202, 180 : Lorentz U000 = Lorenz 000 OOOOO
Section 9.6

e p.202, 00O 34): No.1 = 201-206

e p.202, 00O 34): Phys. Lett. B = Phys. Lett. B632, 326-332

e p.203, 150 : Lorentz 0 00 0 = Lorenz O O

e p.204, 50: Lorentz OO0 = Lorenz OO

ep.204, 00O 41): ODDDDOD = 0OD0OOOO

e p.204, 00O 42): Z.I1. Zakharov = V.I. Zakharov

ep.205, 10: 00000 = 0000000000
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e p.205, 30: 000U0O0O0ODODODOULI =000000 000ODO
e p.205, 210: 000ODLODLDOU =0000000000000O0

ep.206, 40: U0DU0 =0000000000

oo

Section 10.1
e p.207, 80: 00000 =000
Section 10.2
e p.208, 110 : theory of 0 0 = theory on
ep.208, 170: 0000 = 00O C
Section 10.3
ep.209, 00O 20: 000000000 =00000000
ep.210, 10: 19600 00 = 000 OO 1960
ep.210, 130: 000D0ODO0 =DODOO
ep.210, 170: 000D0O0ODOO = Euclid
ep211,30: 000000 =00000
ep211, 80: 000000D00ODO0 =00000000000
Section 10.4
ep212, JOOG60: p,v=0,1,... 00 = p,v=1,..
ep213, 20: 00000 = 0000000
ep.2l4, 60: ()P0 = ZP
ep214, 100: J00DU0ODUD =000000000000O
Section 10.5
ep2l5, 60: NOODUODUD =0 NOOOOONDODODOOOD
ep216,30: 0n00 =0000n
Section 10.6
ep218, 80: 0000 e— 000 =0000000000 e€— 00

ep.218 130: J00LOOUDU =000000000
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oo

ERN
20060 6LOODOUOOLDDODDOOO
200 40000000000000O0O00O0O0O0DOOODOO

oo

l.ggobboogoboboobobobodg2o0rh st 1goooooboboboo
OAODDOOD
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